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Question Number : 1 Question Id : 3354728031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Similipal Tiger Reserve situated? | EAmTe TR = T oo # 9 27

Options:
1. % Odisha | afifEam

Z % Maharashtra | AgWIE
= % Andhra Pradesh | 3TeT 734
4, % Madhva Pradesh | TeT 0

Question Number : 2 Question Id : 3354728032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Marme the gland that 15 located in the rmidline (betweern the two cerebral hermispheres) of the hurman brain. |

T Oqye @ e (e Tiere o Ten § @i df Wi 0 57
Options:

1. % adrenal | sféag
2 % Thyroid | sEgUfEr
3. % Pancreas | =41
4. ¥ Pineal | difae

Question Number : 3 Question Id : 3354728033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the first Prirme Minister to have contested elections from two different constituencies and won from

both? | T & UH W WA § Brgids o sier-ae Mates o=t & gaa @2 o gFf & Sid?
Options:

1. ® Indira Gandhi | ST meft

= % Narendra Modi | T2 TiEr

% % PV Narasimha Rao | 0 9 TRiEmgRE T

4, % ¥ P Singh | o7 &g

Question Number : 4 Question Id : 3354728034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

World Diabetes Day’ 15 celebrated on
ELELE

Options:

1. % 14th Novernber | 14 7@=%
2. % 28th November | 28 et
3. % 29th June | 29 99

4 #® 25th June | 28 97

Question Number : 5 Question Id : 3354728035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Government of India Act 1909 is knowr as .| AT S AT 1909 @

Options:
1. ¥ Montague Chelmsford Reforms | 7l Sma®i2 gum
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2. ¥ Minto Morley Reforms | Tl 776 gem
% # Cabinet Mission Plan | $fewe e amm
4, % Cripps Mission FPlan | T e ==

Question Number : 6 Question Id : 3354728036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who has been appointed as the Chief Coach of Indian Senior Men's Hockey team in September 20177 | daw
2017 H ARG TNE J3T gl o1 o G ®id o ©7 7 Tore g T T g7

Options:

1. % Sjoerd Marijne | @2 A

2 % Roelent Oltmans | Teee sieedd
% % Harendra Singh | gig ¥

4 % Colin Batch | e o=

Question Number : 7 Question Id : 3354728037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did the first ‘Five-Year Plan’ come into effect? | TgAT TEam i Tra-T &e T4 H 3118 217

Options:

1. % 1947
2. % 1950
3. ¥ 1951

4. % 1955

Question Number : 8 Question Id : 3354728038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eﬂmmh%?State has the longest network of National Highways in India? | 9T & [ T H T8 TRHT &7 Se T

Options:

1. % andhra Pradesh | #Ter w24
2. % Rajasthan | TF

3. % Madhya Pradesh | Te[ 0T
4« Uttar Pradesh | 3949¢ 0G4

Question Number : 9 Question Id : 3354728039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the distance that will be covered by the proposed Bullet Train coming up in India? [9RT # &7 G wdqad

goiT 3 AT 3 1 T gt et g

Options:

1. % 253 kms
Z % 206 ks
3. % 469 ks
4. ¥ 50E karis

| 253 Tt
| 306 AT
| 469 T
| 508 TFAT

Question Number : 10 Question Id : 3354728040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The sth BEEICS Surrrmit was held i 2016 in .| 2016 # 347 9ed Térae aas

Options:

1. # Bihar | fegW

2. % Madhva Pradesh | FeT 0ar
3 ¥ Goa | TET

4. % New Delhi | 78 Teeal

Question Number : 11 Question Id : 3354728041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According the Census 2011, which is the most populated district in Madhva Pradesh? | 99 2011 &1 S0 &
ATEAR, T T, ST T Feld AT ATATGT STAT FAEAT B 1= T 8

Options:
1. % Ehopal | |
2. ¥ Gwalior | TR

3. % Jabalpur | SEAYL
4 % Indore | 32T

Question Number : 12 Question Id : 3354728042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The important fort located at Jabalpur is the

Options:

1.  Madan Mahal Fort| Ha Aga Tehe
2. % Amla Fort | ST ar

Z. % Maharaja Fort | AR fofaT

4. % Rana Sanga Fort | ¥0T |07 ToFaT

Question Number : 13 Question Id : 3354728043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Maheshwar is situated on the banks of river .| W Far

Options:

1. % Chambal | =&
2 % MNarmada | 9821
% % Sone | 94

4. % Shipra | TémT

Question Number : 14 Question Id : 3354728044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNarme the baori (step well) located in Malhargarh fort in Guna? [ TAT § ArgRITe Tohel # 63T aTars (@30 &e) @7 A1
A7

Options:

1. # Ahilya Bacri | g a@ar
2. % Kapala BEaori | AT aE2T
3. % Sultan Baori | ged™ aaat

4. % Dovala Eaori | ST aa8T
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 15 Question Id : 3354728045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Kundalpur in Darnoh district is the pilgrimage centre for which particular religious sect? | ZHIg Mol # g2aqe
T refamar dg Tore T4 entie Angr & B 27

Options:

1. % Jains | 99

2. % Hindus | gl
Z. % Buddhists | kgl
4. % parsis | yRigHt

Question Number : 16 Question Id : 3354728046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where are the Doodhdhara and Durgadhara waterfalls located? | FeRT it guiemT Stemum gl (69w §7

Options:
1. * Satna | |41
2. % Panna | ugr

3. ¥ Anuppur | ST
4 % sighi ; |t

Question Number : 17 Question Id : 3354728047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
where did the ‘Quit India’ movernent begin from? | “WIT SIST G0 Bl @ 3T a7

Options:

1. * Magpur | AT

2 ® Sabarmati | AeRHAT
I % Armritsar | STHTET
4 ¢ Mumbai | a8

Question Number : 18 Question Id : 3354728048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Dalai Lama is the exiled leader of which Chinese province, living in India? | ARG H 154 IT6 SATE #ATHT ToFe ST

T

Options:

1. ® Shenzhen | S48

2. % Guangzhou | @
3. ¢ Tibet | fdeaa

4. % Macau | AETS

Question Number : 19 Question Id : 3354728049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is tng7 name of the all-India tax passed by the parliament in 20177 | 2017 # 99 20T 0T 17T IR 4 &
T FT AT &

Options:
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1.9 G5T | Sfigwer

2 % VAT | 3T

3. % Service Tax | 9T &
4, ® Leyy | #df

Question Number : 20 Question Id : 3354728050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following districts does NOT belong to the Narmadapuram Division? | FafcfEs et d g e=ar
TR T T 27

Options:

1. ¥ Hoshangabad | Siammeme

2. % Betul { aqa
3. ¥ Sehore | §ER
4. % Harda | g%ar1

eneral Maths and General Aptitude

Section Id : 335472264

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472264
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Murnber 64 and 36 have the property that they are divisible by their unit’s digit. The number of numbers
between 20 and 60 such that this property is satisfied by themis: | €41 64 ¥ 36 § 107 § o7 o S0 5oTe &l &
T 81 20 3T 80 W ey & gt # Ut RraT e § TR 56 T[0T 1 AP T AT &

Options:
1. % 19
2 % 21
3% 20
4 9 17

Question Number : 22 Question Id : 3354728052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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& invests Rs. 100000 in a business. Four months later B joins with an investment of Ks. S0000. 2 months

after E joins, C joins with Rs. 150000 investment. At the end of the year, the profit was Es. 50000, What is B's
share in the profit? | & UF zamR # 100000 #0274 4T 31 9K A5 W1 B 50000 F0 & 9T 368 A8 5T a1 81 B
mrrﬁ:g{?@frafz ATE Wt C 150000 Tt & T2 & T T 57 99T 5 99 & &fd §, @77 50000 T om @1 # E &7 Toear

Options:

1. % Rz 24000 | 24000 ¥
2. ¥ REs. 8000 | 8000

3. % REs. 18000 | 18000 703
4, % REs. 10000 | 10000 F0F

Question Number : 23 Question Id : 3354728053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the distance travelled by a car in 6 hours, if the speed is 55 km/hour? | € ¢ # U ® &I &1 TS =71 bl
T T g, i Tid 55 Tt/ e 37

Options:

1. % 350 km | 350 fFAr
2. % 330 km | 330 fEr
3 % 340 km | 340 AT

4 % 325 km | 325 T

Question Number : 24 Question Id : 3354728054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If2x2+2x+9=0then (2x+ 1P isequalto . /T 2x2+2x+0=0,ar (2x+ 12
& aat B

Options:

1. % 18

2 ® 17

3. ¥ -17

4 % 2

Question Number : 25 Question Id : 3354728055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

P XWX i ] 10t 10K
plv] 10 1 1o

The value of &l HATA %L:

Options:
1. % 0000001

2. ¥ 0.00001
3. % 0.0001
4 % 0001

Question Number : 26 Question Id : 3354728056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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373x9™5 37 3x9”3
ThE‘i’EluEﬂff= : ff ohl HId = |
27 Zx24372 27 Zx24372

Options:
1.¥3
= %8
3. %3
4 % 27

Question Number : 27 Question Id : 3354728057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& truck is loaded with sand 4 m long, 2 m wide and 1 m height. If the price of 1 cubic meter of sand is Rs.

1000, then the price of sand is: | UF 2@ & 4 A @el, 2 Aee T2t 3T 1 AT F=2e & 17 9 97 237 mam Fi 1 9+ Aiex
o 4T & FAT L000F 5, FT T W AT GO0

Options:

1. % Fs 1000 [ 1000 ®
2. % Rs. 2000 [ 2000 ®
3. ¥ Rs 8000 [ 8000 ®

4. % Rs 4000 [ 4000

Question Number : 28 Question Id : 3354728058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
(x+1)(xd-x+1) =7
Options:

3 %8 ¥

4 ® i +x2+]

Question Number : 29 Question Id : 3354728059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the square of (1.2)7 | (1.2) %71 27 87

Options:
1.9 144
Z % 144
3% 0144
4. % 00144

Question Number : 30 Question Id : 3354728060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Find the average. | sf|g e

=2, B8, 42, 27, 21
Options:
1. % 37
2 ¥ 3B
3. % 39
4. % 40

Question Number : 31 Question Id : 3354728061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an exarm, a student gets 20% marks and fails by 30 marks. & second student scores 32% marks but gets 42
marks more than the minirmum passing marks. Find the passing percentage? | U&F qyT H, U Temdf 20% a5 my

W%GﬁTSD 3! & argaivl g1 AT 81 U o foemedi 20% i o1fAd @XdT & oiid ~ga A Juivi o | 42 3 SIfEer uH
AT 21 FA 01 Ao AT He?

Options:

1. ¥ 25%
2. % Z0%
3% 2B%
4 % 22%

Question Number : 32 Question Id : 3354728062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A train 150 mlong running at a speed of 60 kinfh crosses a bridge in 20 sec. The length of the bridge is: | 0%
150 W2t #ar , ,Eaﬁﬁn%‘a%fﬁrnﬁ‘ﬁaﬁﬁﬁwgﬂaﬁ% HFZ W UR Fd T 5 I &1 s o

Options:
1. % 350 m | 350 #ex

= ® 500 m ;500 HiT
Z ¥ go0m f 800 der
4 % 1000 m | 1000 HET

Question Number : 33 Question Id : 3354728063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Five students weighed themselves in pairs in all possible ways. The weights were 90 kg, 92 kg, 93 kg, 94 kg,
a5 kg, 96 kg, 97 K% 98 kg, 100 kg, and 101 kg, What was the total weight of the five boys? | Ui
T qeier! o grat o o @7 a= TFem o= 90 T, a2 T, 93 e, 94 e, oS T, 96 T, 97 R, o8 T,
100 T & 101 Tum h Ofg AS®! 1 el g T 17

Options:

1.9 239kg
2. % 229kg
2% 230 kg
4 % 240 kg

| 239 T
| 229 T
[ 230 T
| 240 T

Question Number : 34 Question Id : 3354728064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The sum of the present ages of a mother and a daughter is 70 yvears. S years back, the mother's age was 3
times the daughter’s age. Find the present age of the daughter. | Ta ATAT 371 T [T T TdA 3] HT T 70 T
21 5 o e, W T ST QAT R S 3 AT 4 O R A I S ST e

Options:
1. % 25
2. % 30
3.9 20
4 % 15

Question Number : 35 Question Id : 3354728065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Desikan was born on Saturday November 9, 2002. What will be the day of the week on his birthday in 20087 |
SH T BT SR AWER 9, FEa, 2002 FgeT an 2008 # IHE THEH T FHIE BT & @7 d e

Options:

1. ® Saturday | f=eme
2. ¥ Sunday | TEW
% % Monday | FHAW
4. ¥ Tuesday | ATHAR

Question Number : 36 Question Id : 3354728066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ravi sold an article for Rs 460 and got 8 15% profit. The sellin qgri-:e for getting a 20% profit should be: | TR =
460 T H 0w e o Ud 15% % AR 0 fHm 20% W!FI'IHEIT(T% TolT Teleit AT gt ATie:

Options:

1. % Es 483 | 483 &0
2. ¥ Rs. 480 | 480 ¥4
3. % Rs 498 | 498 =0
4. % Rs. 485 | 485 ¥4

Question Number : 37 Question Id : 3354728067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the sum of two numbers is 35 and the larger one is 21 more than the smaller one, then the larger nurnber is:

| AT ST HEsl ® AME 35 § S S 3%, @ea] § 21 S 8, 91 Srefa] 9w g
Options:
1. % 20

2. ¥ 28
2. % 20
4. % 14

Question Number : 38 Question Id : 3354728068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the given numbers are arranged in increasing order? | &1 T Hearst # & =19 91 a5 7Y 70 H =Zaiedd g7

Options:

1/5<14=<13<%
1. ¢
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14<13<12<1/5

13<12<1/5<14
3 %

12<13<1/M4<1/5

Question Number : 39 Question Id : 3354728069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The square root of 17859076 up to 3 places of decimal is: | 90T & o9 #0041 T, 17 859076 %1 I &

Options:

1.9 4226
Z % 4118
3. % 4866
4 % 4328

Question Number : 40 Question Id : 3354728070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The least perfect square which is divisible by 3, 4, 5, 6, and 8is: | gAaA @i = 3, 4, 5, 6 1d & & HwFa &

Options:

1. % 300

2. % 1200

3. % 2500

4. 9 3600

CGeneral Hindi

Section Id : 335472265
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472265
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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TITRA0T o Tt # afe, e § U e TEAT Bl
Options:

1. % coTeR

= % A

3 % g

4. ¥ 0

Question Number : 42 Question Id : 3354728072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Teg T 3 g -
Options:

1. Fad ooy

o ® Fae i

3 % FEE AT

4, ¥ FEE wEAr

Question Number : 43 Question Id : 3354728073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Torg ATt & Seal @1 AR =T T 4T -
Options:

1. % 3o

= ® g

2. ¥ OmT
4. ® fEza

Question Number : 44 Question Id : 3354728074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T ot e Wi
Options:

1. & e

2. ® gy

3. ® ST

4. ® 7R

Question Number : 45 Question Id : 3354728075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“HTHT-ATT 58 & T w7 3gTEem g
Options:

1. Rudawds gm

2 % gaiggm

3. % awip-freds gm

4. #® arqwmef

Question Number : 46 Question Id : 3354728076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
TEAT T qTgame =g & S ar g7

Options:

1. % ey
2 ® o
3 ¥ A

4 % i

Question Number : 47 Question Id : 3354728077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Termu] T JuTHer o ol U g M A A w AT Y

Options:

1. % T
2 % fomy

3. g

4. % JurEE

Question Number : 48 Question Id : 3354728078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘IS WA oeeg W H # @ AT a7
Options:

1. % arg+amn

2. % SR+

3. ¥ arg+ard

4. % a4

Question Number : 49 Question Id : 3354728079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“fereqa @7 oAy seg MR A AT ATE?
Options:

1. % Tmw

2 ® eI

= v aigy

4 % [idmw

Question Number : 50 Question Id : 3354728080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

7 e | T eg Y H @ 57
Options:

1. e

2 ® I

3 ® dRT

4 % drF
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Question Number : 51 Question Id : 3354728081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“srater geg # Mg A S F AT aAea 87

Options:

1. % s |uTe

2. % JoyEy gA
3. % iy gu

4 THTEAE

Question Number : 52 Question Id : 3354728082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“TorggT ST GRTa T e P A A EE AT EY
Options:

1. % W7 STATET

2. % T g @

2 ® & FgEr

4. R g7 FET

Question Number : 53 Question Id : 3354728083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘TT BT T T H R ETR?

Options:
1. ¥ gz
2 % gg
3. % §a
4. % i3

Question Number : 54 Question Id : 3354728084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST AT T 9T ST &1 31ars]
TIH-TIA 0id @ S -FIE FEma
AU H Mg H S F T AT By

Options:

1. % FHemTg

= % gy
S.v"eq%-crﬁtr

4 ® gy

Question Number : 55 Question Id : 3354728085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T o7 & e A, 3Ty e g i
REREREURCEEACPE RN EERIE]
H I |7 w51 F51 ddeug i-u?
Options:

1. % &7 @
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= & IoUT ATAET
S ¥ ZunT SEww
4. ® STIWTH SAFFR

Question Number : 56 Question Id : 3354728086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T0H AT Seg gy — emef
Options:

1. ¢ FeuiE

2 % Tt

3. % seffad
4 % st

Question Number : 57 Question Id : 3354728087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o # & g A w1 g -

Options:

1. ® g3 58 el B UGHT AT BT STAT T
2. % T TE i I TG TG BT S Fe
3. g 5 I Bl UGt ST T ST Fe
4. % T TE T I UGHT ATE 5T TG G

Question Number : 58 Question Id : 3354728088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ATE = H & |1 GHE &7

Options:

1. % Foqew
2 % 5E

3. % FHew

4.  aigity

Question Number : 59 Question Id : 3354728089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T S AT ! 3 T — T aref aET et e o agt ST R -
Options:

1. % a7 - Ty

2. ® O - I

3 VI -

4 8 e - qeERT

Question Number : 60 Question Id : 3354728090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Iy AT H T qA W 35 87
Options:
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1. ¢ gz aAm
2 % FqUeT @A
3. % egeiihy ward
4 % TmremEE
Fural Econorry and Panchavati Eaj
Section Id : 335472266
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472266
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ___________ under the chairmanship of Prof. M.3. Swarninathan subrmitted its final report in October 2006,
{ TITH T, FATH e et  arrger 2006 H st sifdw Rl tar &
Options:

1. ¥ National Corrrission on Forests | S wH1a ST SRET (@1 0 TR ST

2. ¥ MNational Cormmission on Farmers | =8=d SR 379 BT (raET o8 g smam)

%, % National Commission on Rural Econormy | =8 FHIS ST S S =TAT (TTHT SRfeTaes T o g S
4, % MNational Comrmission on Panchavati Raj [ =8 SHee 1= T=d T T (U= T 0 e ST

Question Number : 62 Question Id : 3354728092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of Panch Pararmeswar Yojana initiated by the Govt. of Madhya Pradesh? | A2 W4T e
T I 1 T O WHPEE AT 1 J59 T4 57

Options:
1. % To empower village panchayats [ TTH T=ITad T &1 Qe [

2. % To provide assistance to Sarpanchs | GO0 @1 A5TIdT Ha T BT

Z. ® To provide rural employment | TTHIOT THTTE W& FeT
4. % To develop 5 major cities of the state] T=g & 5 72 J5¢ T 0@ F7

Question Number : 63 Question Id : 3354728093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Farm to Fork” is the approach of which policy of Madhya Pradesh? | “BTH g BTd 7 WS ®1 e ifd w7 gieim
&7
Options:
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1. % State Fisheries Policy | T4 B UTe A11d

2. % State IT Policy | T SMEcT A1d

3. ¥ State Organic Farming Policy | T SAfde® Gd T At

4. % State Sovabean Farming Policy | T=< AT A §Y iid

Question Number : 64 Question Id : 3354728094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following DOES NOT come under cottage industry in Madhya Pradesh? | wea nda o Fgfafea # &
TFAT? PN T I SfFIa AR AT 87

Options:

1. ¥ Stone carving | Uo9R O AT
2. % Toy making | &N a4=T

= % Handloom | Fo&CEr

4+ Shoe making | & s=HT

Question Number : 65 Question Id : 3354728095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following cormmittes has been constituted to prepare a blueprint for dc::uublir;g;he farmers’

i%gcomebyzazz?jzozzwﬁmﬁfﬁmaﬁaﬁuﬁaﬁww e o Ty g ieaT f & @iq = |infd miaT &

Options:

1. % DR Gadgil Committee | 13, TS FHET
2 % Kasturi Rangan Corrmittee | Feqar T FHoT
3. ¥ aAshok Dalwai Comrmittes | STSME grds wHaT
4. ® Justice Lodha Committes | ATET AGT FHT

Question Number : 66 Question Id : 3354728096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which online facility has been launched by the Union Government to provide direct solution to problems in

agriculture sector? | T &5 H THEATST HT Tyl GHTETT TS F- & o0 #g TR o e siTaaTg - Giare & Joamd & 87
Options:

1. % e-Krishi Samvad | 5-FW Hamg

2. % e-Krishi Samadhan | T~ AT

3. % e-Krishi Solutions | $-F Aegad

4, % s-Krishi Samarthan | 5-F0 a9

Question Number : 67 Question Id : 3354728097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Agriculture Prices Corurission and Indian Food Corporation were constituted in

AT = =TT Ty o TiET T ™ an

.| T GF ST &

Options:
1. % 1960

> ¥ 1965
3 ® 1998
4 ® 1965
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Question Number : 68 Question Id : 3354728098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhvya Pradesh Tractor Dwara Kheti (Prabharo Ki Vasuli) Adhiniyam (Act) received the assent of the
GOVErnorin _____ | RS MO S G WA T (TR A e arferee H YT W A ATE e

Options:

1. % 1936
2. % 1947
2. % 1956
4 ¥ 1973

Question Number : 69 Question Id : 3354728099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the MGNREGA enacted? | B-RTT &1 & o STe-raiia foraT =r 417

Options:

1.9 2005
2. % 2008
2% 2006

4. % 2007

Question Number : 70 Question Id : 3354728100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a medicinal plant cultivated in Madhya Pradesh? | wear ndar # Frgfaras # 4 frg
ity Oer &7 AT ARl AT 57

Options:
1. ® Lermon grass | oA 009
= % Coriander | #i=ar

3. % safed Musli | Hhg THAT
4 % Tulsi | gt

Question Number : 71 Question Id : 3354728101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNational Bank for Agriculture and Rural Development was established in the year______. | A dF B iweaT
UZ 0l Sadule (TTYg 2 FiY U T T sfem &1 s oy

Options:
1. % 1969

2. % 1975
3. ¥ 1982
4 % 1994

Question Number : 72 Question Id : 3354728102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which armong the following is considered as Pricrity Sector for financing by banks? | FafefET # @ & d@t gm
TereT o ToT arerfier & & &9 § 77 AT 87

Options:
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1. % Industries | J=IT
2 % Services | 94T

= ¢ Agriculture | FY

4. % Eig trade | 92 =0T

Question Number : 73 Question Id : 3354728103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fural mascorns under rural housin% schemes are trained and certified by

TTHIT ST el @ & ENT 3 THTIT forar AT 8 1

Options:

1.IO #® Ministry of Rural Developrment | TTHIOT ST AaTAT

2. % Respective Panchavats | SaEd U=

3. ¥ National Skill Developrnent Corporation | e = 1 fdwm e
4 ® NABARD | 9EE

Question Number : 74 Question Id : 3354728104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first state-of-the-art logistics and agri-business hub on PPP model in Madhya Pradesh has been
established in ______ | e v § U Oied W Uge {59 3 ST He, S P caae T g @ I
T #

Options:

1. % Hoshangabad | Siammane

2. % Bhopal | #UT&A

3. % Jabalpur | SEAYY
4 % Seqni | WEHT

Question Number : 75 Question Id : 3354728105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mational Fisheries Developrnent Board 15 1ocated in

| T TRt Saaude A2 (TR el TaeTe T o2

Options:

1. % Hyderabad | 5e@E
2. % Goa | TET

z ® Mumbai [ g8

4. % Chennai | @9

Question Number : 76 Question Id : 3354728106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Livestock census is conducted in [ndia in every

Options:
1.¥5
2 % 4
3 %3
4 % 10
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Question Number : 77 Question Id : 3354728107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Deenn Dayal Upadh;:.ra;:.r Gram Jyotl Yo'ﬁ%r}a replaces which one of the following erstwhile schemes? | £9 410
JUTETT WTH =211 2T = o TR AT W AT TR 277
Options:

1. ® Integrated Fural Developrnent Programime | 5edE 0 Sdeqde T

2. ¥ Rajiv Gandhi Grameen Vidyutikaran Yojana | Triia e T e et ar=mr

3. # Spansad Adarsh Gram Yojana | 99 sgsl FeTaT

4 % Deen Dayal Upadhyay Grarin Kaushal Yojana | &9 276 SUTEETE TTHITT 196 J=T

Question Number : 78 Question Id : 3354728108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The National Agricultural Market launched in 2016 isa ______ .| 2016 # IF B8 aHe Uhitheael Hihe (TE1T P
AT U ______ 7l
Options:

1. ¢ Electronic trading portal for agricultural corrmodities | Y aegalf & o0 geig 1w oieT oiea

o % APMC | UUTHET
Z. % MNational Market for Farm Produce in New Delhi | 72 el § & Je0Te & 600 T8 ar=me
4. ® ppgri Export Zone | §Y FaiT 87

Question Number : 79 Question Id : 3354728109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wha%t? is the objective of Agri Export Zones in Madhya Fradesh? | W2 W29 # [T U A4 (FY i &) &1 3899
FT &7

Options:

1. % Export agricultural machinery | W gi=er &7 i #=r

2. % Export agricultural technology | 10 Te-1! @7 faid @

= ¢ Increasing export of a particular produce | gt BideT Iourg & Fafs § sgieer #ear

4. % Import produces for processing and then export | JTATGT ST TE & T50 ST @47 S 06 Toata ar

Question Number : 80 Question Id : 3354728110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following is NOT a function of 'The Madhya Pradesh State Agro Industries Developrient
Corporation Ltd.'? | FeRRET # & #19 @7 'Aew 0 € Uut S0 i aﬂﬂ%&mﬁﬁ%@ (22T TaT Thee i F=IT
TereTer TeTTA) T U FTe Al B

Options:

1. % Manufacture of fertilizers | Tdew @7 AT

2. ¥ Research in agriculture technology | T W o ater
3. % Marketing of vegetables & fruits | Alearal Ud Ha! @7 T
4. % Marketing of Seeds | == &7 T

Cornputer Knowledge
Section Id : 335472267
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Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472267
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

In M5 Excel, the colurmns are numbered from A onwards till £ colurmn is reached. After Z Column, the series

start with _______ and so on. | THUE UFH §_RTTHT BT 4 & G0 £ BT U5z G Trers ool T 51 Z FIeH & a0,
A G IE BT AR 8 ST T TR ST g [ g B

Options:

1.9 & AF, ..

2% A1 AT

3% 14 2B

4 % 114 228

Question Number : 82 Question Id : 3354728112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
& website 15 A /an

Options:

1. ¥ non-volatile | TN-a7ER
2. ® yolatile | arfeR

3. ¥ transient | sl

4 % intransient | 4w

Question Number : 83 Question Id : 3354728113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O
e-Mail stands for: | E-Ad FTqof T 5T 8

Options:

1. % Electronic man | Soigg i@ o

2 % Electrornagnetic rmail | gelgg a-ie® oa
3. ¥ Electronic mail | Seifg 1w el

4. % Engine mail | 49

Question Number : 84 Question Id : 3354728114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ___ ITAin purpose is 1o prohibit unauthorized access to your computer via the Internet. |
ngﬁ?a?mm@r SATTEIET e i TIaTH HAT gl &l
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Options:
1. ¥ popup blocker [ GITSTT TeATHT
2. ¥ firewall | BlaeaTA
3. % spyware blocker | HUTER ST
4 % sSparn assassin | GOW SEET

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 85 Question Id : 3354728115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a cormnputer classification? | A # & BT Uk FHILET FeATa TR (Siwm 57

Options:

1. % Supercomputer | GUREATIET
2 % windows | ek

3. ® android | UST9E

4. ® Mac O5 | fa i

Question Number : 86 Question Id : 3354728116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the extension of saved file in M3 Excel? | TATH UFdA §, Hd BISH P THEc T FAT 57

Options:
1.9 s

2 % ulks
3% uwbs

4 % w03

Question Number : 87 Question Id : 3354728117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ir1 M5 Word 2007, low do we set the chiaracters in the fOllOWiﬂg rmanner ‘diarmond’? | THIE aE 2007 ﬁ, L)
Higred & AT 92 ‘diamond’ § rE TR @ F o o7

Options:

1. % Use smaller fonts | #1¢ BT FT JUIT Fd

2 ¥ Set the font as strikethrough | GEE®s] & #7 0 BT 1 AT FAT
2. #® Indent the text to the top | SHEC & A 0T 52T FH

4 % Use Srrartart | FACSITE o1 U B

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 88 Question Id : 3354728118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To send a received rmail to another person, youneedto __________ the message. | WIHT Hel 1 el EE T 31
Ut 3 TonT ammoeRt &t OR T __________ GIT
Options:

1. ® Reply To | e g
2 % Forvweard | B2
Z. % Reply all | FqaTe afld
4, % Copy | ®H0
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Question Number : 89 Question Id : 3354728119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many bytes equal to a Megabyte? | UF AITETSE & aX ey [hd- d15¢ 5id 57

Options:
210 pytes / 210 @1SE

1. =

220 phytes [ 220 B
2
- 230 bytes [ 230 @l5C
L% 240 bytes [ 240 EI5C

Question Number : 90 Question Id : 3354728120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which expression is used to know how the numbers in a determined set of cells are calculated in MS Excel? |

ﬁ?ﬁr!.%c?m-: AT TFee § O o Treiieg &F 8 THaR! &1 0T &7 7T 3, 1S o3 o T Jerer (Uereiar) T SeaATe
EIGIET

Options:

1. ¢ Formula | STHAT
2 % Field | BiFE

3. % Data | 2T

4 % Query | Fael

Question Number : 91 Question Id : 3354728121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the follomnéshortt:ut keys is used to copy a portion from a document in M5 -Word 20077 | THIT
T2 STggis 2007 | FHT o 9 %9 91 didde &, SiggHe 0 d AT T AT FAA o 61T HFd Bl 27

Options:

1. % CTEL + N
2 % CTREL+ 0O
3. % CTRL + C

4 % CTREL + 5

Question Number : 92 Question Id : 3354728122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which one of the following shortcut keys is used to ‘undo’ operation in MS Word? | TATE 92 # T ST 1
undo’ T & T S0 & T aTdere it T SuiT faT ST a7

Options:
1. % Ctrl + ¥
2% Cirl+ O

W Cirl 4+ 7
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4 % Ctrl + N

Question Number : 93 Question Id : 3354728123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& word processor can be used best 1o | T 92 WIHHT P ebus &9 & J0AT FHE & oy =T g

Options:

1. # Paint a picture | =7 @t @1 & Fo

2. % Draw a diagram | ST a9+ & &0

= ¥ Typea story | Gl T8T & & &y

4 % Workout incorme and expenses | T & g9 FHwTa- & o

Question Number : 94 Question Id : 3354728124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A coglputer has only one processor which is knowrl as: | U% FHYIET § @ TF 51 Waew g7 3 e o am & =
ST 5

Options:

1. ¥ Uniprocessor | Ji-auTEaT
2. % Multiprocessor | Ae HIEET

3. % Multithreaded | AT RIZS
4. % Multi-meter | TAc-HieT

Question Number : 95 Question Id : 3354728125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many 'Ctrl’ keys are present in a standard keyboard? | 0% 9ise e § frar ‘Ctrl’ &7 JUAe gl 57

Options:
1.%1
2 V2
3 %3
4 % 4

Question Number : 96 Question Id : 3354728126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following key is used to delete a word or a line? | FHARET & & o0 F=1 &7 sHa e U o2 A7 715 &1
TEwle T o oy T 9T 57

Options:

1. % Alt

= % Shift

3. ¥ Insert

4. ¥ Backspace

Question Number : 97 Question Id : 3354728127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the CORREECT order of the four major functions of a computer? | U ST & O]
T T T WA O @ 91 T8 a7

Options:
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1. ® Process, Cutput, Input, Storage | HIEE, #139e, E40e, T

2 % Input, Cutput, Process, Storage | 39U, HTECUT, HEH, T2
3. % Process, Storage, Input, Qutput | WEE, 2R, 5T, AT2e08
4+ Input, Process, Output, Storage | S, WEH, ATETYE, To T

Question Number : 98 Question Id : 3354728128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

El"o}gl"(?de;.;'cler\i\gig;gfe?fers usually to what kind of file? | ‘TT’ UFade, QAT & & [ TR & S5 ®1 T aq Fal 57
Options:

1. ¢ Text file | ¥FHT BIEA

2. % Image file | 77 B1EA

. % Audio file | TS EEA

4. % adobe Acrobat file | ST Ukl BIE

Question Number : 99 Question Id : 3354728129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is NOT an input device? | 9 # @ @19 &t U% 59 [&amsq 751 87
Options:

1. % QCR | sfiEiam

2. % Keyboard | #iai2

2. ¥ Monitor | AT

4 ® MICE | THITEATET

Question Number : 100 Question Id : 3354728130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Internet isa ______ ClSETUE ____ H
Options:
1. ¥ Network of networks | STaed H7 dTdd

2. % Website | TEHET
3. % Host | 5T

4 ® Seryer | HdT
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